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S0 sat) 3l4= otLEC] &= LHoIA & 2 SHCH
st oI ME22 =252 81 HeE HdeolEH 1 50| %
HE= ACHEICH 223 H0 AIE8 /= &5 WS O0IL.
#include <stdio.h>
int main()
{
inta=10, b=20; // Heles =50 dAE Ha 7} W2e] AFg 9]
printf("HFRJ| & a : %d, b: %dWn", a, b); e
{ /| NE2& 282 A&
int temp; /] OtZ S50 dAHE Ha W2 temp
temp=a;
a=b;
b=temp:
} /] 50| LIHA tempB == AI2tRILCH

printf("HIE & a: %d, b : %dWn", a, b);
return O;
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#include <stdio.h>

int main()
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int val

— U
W o)

ol
L

S
S <
N 3

KO )
M Al

val++;

}

=
Ll

il
il

: %dWn'", val);

printf("val

D %dWn", val);

printf("val
return O;
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#include <stdio.h>
int add_ten(int); R A S

{ I W aS| 2t 100] ZAEI0] boil K=
int a=10;

a=add_ten(a);
printf("a : %dWn", a);

return O; Al g8

bi 20 add_ten &4 94
int add_ten(int b) b Z} 200] EAKEIO] A0 KB - worerrereerreeeeesees e ere e
{ a 20 lolt4 oiof

b=b+10;
return b;

}



e SEETUHAN H=2 HEOIHE MYCIAE =1 llsEet+0lA= Ol
HE &0 s sa+2 H8 HFXAol= 24 0[L.
#include <stdio.h>
, , AEH Qod
int add_ten(int *);
int main() b | 100 : add_ten &= Y
a9 FAZL1000] iy
{ . 2 AFE|O] boil K&} oo 2
int a=10; a 10 Q15 e
a=add_ten(&a); T
printf("a : %dWn", a);
return O; .
} *b = *b + 10 ’
. . b7t 7ta|7|= 7|12 b7t Zt2|17|= 7|A S 7Ha)2
\{’O'd add_ten(int *b) Z7Ha)oll HE Bt 22} 102 sl A
*b=+p+10;
}
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#include <stdio.h>
$100 SR —— .
int *xadd_ten(int); b g add ten 84 YA B4} |
................... e |
int main() ol 4t 1000 | <
{ 2|E1E|0] ap0f| X & Jl2|Zict
int a=10; 2B B
int *ap; w0

ap=add_ten(a);

printf("a : %dWn", *ap); // ZOIE B2 apE add_tendh 40| HAZ Z TS}
return O;
}
int *add_ten(int b)
{
b=b+10;
return &b;  // add_ten&2=2 XIS b2l EQIEHE 2|E BT
}
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char *strcpy(char *A, char *B);  // B2 S 2= A0 A5 AZ 2|EEH}
char *strcat(char *A, char *B); /] B2 2XL S Al £2Q1 0l AZ ClE ST
char *gets(char *A); /] AGIl 2XtE S /246t AS 2|EEH

HOIHE clE

#include <stdio.h>
#include <string.h>

int main()

{
char src[80]="BICH";

printf(“Z 1 : %sWn”, strcat(src, “=”));

return O;

}
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Q XX B [static variable]

#include <stdio.h>
void increase();

int main()

{

int i;
for(i=0; i<5; i++){
increase();

}

return O;

0]l static Ol 2F

HE MEolH &

void increasel()

{

}

T

static int sum=0;
sum-++;
printf(“sum : %dWn”, sum);
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#include <stdio.h>
int *increase();

int main()
{
int i
int *sp;

for(i=0; i<5; i++){
sp=increase();
printf(“sum : %dWn”, *sp);

}

return O;

S2H0l RAIED] 20 1 X0l
= QUL

int *xincrease()

{
static int sum=0;
sum-++;
return &sum;
}
=3 A2 sum : 1
sum : 2
sum : 3
sum : 4
sum : 5

-14 -



Q 9/2 8 (extern variable]

e QRH== 6LLES] S 0| Sol UK E2eB= e erllAN AISSA
AEE o= UL,
e QAR Hz= BE et 50| 8 A st}
e QQREH=SE AIEoIH S H2| gi=2 Hi32= 0O
#include <stdio.h> void exchange()
void exchangel); { i
ge() Int temp:;
int a, b; B2 gha BHOf| MBI )
/e hese temp=a; // egeisa, bE
int main() a=b; /] Tralol B0l 2K
{ b=temp; // AL2EiCL
printf(“A gt & MHE LMK : 7); }
scanf(“%d%d”, &a, &b);
exchange();  // @golxt g0l 3E3tCH
printf(“a : %d, b : %dWn”, a, b);
return O;
}
e QRHSE J|AZZ2HO MED|ZH0| &2 SSF 2 22610
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